R—IOE 21—

aE i

BEAK

A

|

1600000

1400000

1200000

1000000

800000

600000

400000

200000

st |NIMHIHNHI|N\MM

0c-ver
61-3°0
61-Inr
61—4dy
61-uer
81-1°0
glL-ne
81—1dy
g|-uer
L1-3°0
Li=ne
L1-ddy
L)-uepr
91-3°0
gl-nr
9|—4dy
9|-uepr
G1-1°0
gL-nr
Gl-dy
G|-uepr
¥1-3°0
vi-Ine
1 -4dy
yiL-uer
€1-1°0
er-=nr
€1-1dy
gl-uer
¢1-3°0
cl-ne
g1—4dy
¢l-uer
L1-30
L=np
| |—ddy

| ||-uep
| 01-1°0

oL-inp

| 01-1dy
| 01-uep
| 60-190

60-Inr

60-4dy
60-ver
80-1°0
80-Inr

80-4dy
80-uer
L0-3°0
Lo-Inp

L0-4dy
LO-uver
90-1°0
90-Inr

90-4dy
90-uer
G0-1°0
go-1nr

Go—dy
Go-ver
¥0-3°0
yo-Inr

y0—4dy
yo-uer



